REHABILITATION OF WATER WELLS 4 & 5
BID TABULATION 04-68

Water Well #4 Pump Rehabilitation Weisinger Water Well Smith Pump Co Alsay, Inc.
[item] Est. Unit Total Unit Total Unit Total
No.| Qty. [Unit|Description Price Price Price Price Price Price
1 1 | LS [Move in & Set up equipment to construct Water Well #4 Rework 730.00 730.00 510.00 510.00 2,400.00 2,400.00
2 1 | LS [Performance & Payment Bonds for Water Well #4 Rework 730.00 730.00 715.00 715.00 2,000.00 2,000.00
3 1 | LS |Wire to water performance test before pulling the existing pump 250.00 250.00 150.00 150.00 250.00 250.00
4 1 | LS [Remove pump, motor, column assembly and accessories 2,800.00 2,800.00 3,990.00 3,990.00 2,500.00 2,500.00
5 1 | LS [Haul pump, column assembly & accessories from job site to shop yard 500.00 500.00 837.00 837.00 500.00 500.00
6 1 LS |Di pumping i wi/ report & dations for repair 800.00 800.00 1,530.00 1,530.00 300.00 300.00
7 1 LS [Bail oil from the well if necessary and complete 200.00 200.00 2,374.00 2,374.00 100.00 100.00
8 1 | LS [Televise the well with a color camera with side look view 1,200.00 1,200.00 1,875.00 1,875.00 1,200.00 1,200.00
9 | 88 |ea. [Provide & install 88 new 5 1/2"x5' oil tubes 100.00 8,800.00 78.65 6,921.20 95.00 8,360.00
10 | 21 |ea.|Provide & install 21 new 12"x20" section of column pipe 755.00 15,855.00 1,068.43 22,437.03 1,230.00 25,830.00
11| 21 |ea. |Provide & install 21 new 2 3/16"x20' sections line shaft 300.00 6,300.00 382.36 8,029.56 460.00 9,660.00
12| 21 |ea.|Provide & install 21 new 12"x3 1/2 " rubber tube centralizers 9.00 189.00 16.94 355.74 15.00 315.00
13| 23 |ea.|Provide & install 23 new Sch40 12 in pipe couplings 90.00 2,070.00 142.78 3,283.94 120.00 2,760.00
14| 88 |ea.|Provide and install (88) new 3 %" x 2 3/16" bronze line shaft bearings 61.25 5,390.00 78.68 6,923.84 98.00 8,624.00
15| 24 |ea.|Provide and install 24 new 2 3/16" line shaft couplings 57.00 1,368.00 114.95 2,758.80 130.00 3,120.00
16| 1 [ LS [Provide and install new 3 %" x 2 3/16" tension bearing with stuffing box 700.00 700.00 411.40 411.40 450.00 450.00
17| 1 [ea. |Provide and new 12" x 10’ column pipe 400.00 400.00 635.25 635.25 760.00 760.00
18| 1 [ea.|Provide and install 12’ top special column pipe 412.00 412.00 586.85 586.85 680.00 680.00
19| 1 |ea. |Provide and install 2 3/16” x 10’ line shaft 176.00 176.00 255.31 255.31 305.00 305.00
20| 1 [ea.|Provide and install 2 3/16" Top special line shaft 300.00 300.00 469.48 469.48 540.00 540.00
21| 1 |ea. |Provide and install 3 %" top special oil tube 125.00 125.00 175.45 175.45 200.00 200.00
22| 1 |[ea.|Provide & install 2 3/16" motor drive shaft w/ head shaft, nut, gib key & lock bolt 356.00 356.00 590.48 590.48 580.00 580.00
23| 1 |[LS|Install 440'—1" sch 80 pvc pipe for water level sounding line 290.00 290.00 227.00 227.00 880.00 880.00
24| 1 |LS|Lower pump setting if requested — 20’ -12" x 3 %" x 2 3/16" column tube & shaft bly w/ %" S.S. PVC coated airline including labor & freight 1,954.00 1,954.00 2,078.00 2,078.00 2,530.00 2,530.00
25| 1 |[LS|Clean, sandblast, & paint existing discharge head, new o-rings, dripper, oil line & all new hardware and gaskets 375.00 375.00 600.00 600.00 100.00 100.00
26| 1 | LS |Fabricate access in the existing i steel head for 1" sounding line 185.00 185.00 180.00 180.00 300.00 300.00
27| 1 | LS |Labor and materials to hook up electrical wiring for seven gallon oil reservoir heater 600.00 600.00 200.00 200.00 400.00 400.00
28| 1 |[LS|Provide & install new 12" x 10' suction pipe including stainless steel cone strainer & lifting lugs 555.00 555.00 1,147.00 1,147.00 700.00 700.00
29| 1 |[LS|Provide and install up to 450" of ¥:™ PVC coated stainless steel airline, including strapping material airline fittings, and airline gauge complete as specified 940.00 940.00 655.00 655.00 900.00 900.00
30| 1 [LS|Install customer's new Goulds 14 HMC 6 stage pump, motor and accessories, including ing components in shop yard and deliver to job site 4,000.00 4,000.00 6,980.00 6,980.00 2,000.00 2,000.00
31| 1 |[LS|Provide nuts, bolts, gasket, electrical reconnection, leveling wedges, pipe joint compound, and minor parts to make operational 400.00 400.00 250.00 250.00 50.00 50.00
32| 1 |[LS |Disinfect the well in accordance with AWWA C654-87 (section 5), including three consecutive bacteriological water samples per TNRCC 700.00 700.00 100.00 100.00 400.00 400.00
33| 1 |LS|Demobilize equipment and restore site 100.00 100.00 1,050.00 1,050.00 250.00 250.00
34| 1 [LS |Perform complete wire to water efficiency test using the permanent pump after the repairs are complete 250.00 250.00 150.00 [ $ 150.00 350.00 | $ 350.00
Subtotal Base Bid Well #4 60,000.00 $ 79,432.33 $ 80,294.00
Water Well #5 Pump Ret 1
1 1 | LS [Move in and set up necessary equipment to construct Water Well No. 5 Rework 671.00 671.00 510.00 510.00 2,000.00 2,000.00
2 1 | LS |Provide performance and payment bonds for Water Well #5 Rework 671.00 671.00 1,162.00 1,162.00 2,000.00 2,000.00
3 1 | LS [Perform wire to water performance test before pulling the existing pump 250.00 250.00 150.00 150.00 250.00 250.00
4 1 | LS [Remove pump, motor, column and accessories 2,800.00 2,800.00 3,990.00 3,990.00 3,000.00 3,000.00
5 1 | LS [Haul pump, column assembly and accessories from job site to shop yard 500.00 500.00 837.00 837.00 400.00 400.00
6 1 |LS|D entire pumping equi with written report and recommendations for repair 800.00 800.00 1,530.00 1,530.00 250.00 250.00
7 1 | LS [Bail oil from the well if necessary 200.00 200.00 2,374.00 2,374.00 100.00 100.00
8 1 |ea |Televise the well with a color camera with side look view 1,200.00 1,200.00 1,875.00 1,875.00 1,200.00 1,200.00
9 | 80 |ea.|Provide and install (80) new 3 " x 5' oil tubes 100.00 8,000.00 78.65 6,292.00 95.00 7,600.00
10 | 19 |ea.|Provide and install (19) new 12" x 20' section of column pipe 755.00 14,345.00 1,068.43 20,300.17 1,230.00 23,370.00
11| 19 [ea.|Provide and install (19) new 2 3/16" x 20' sections line shaft 300.00 5,700.00 382.36 7,264.84 460.00 8,740.00
12| 19 |ea.|Provide and install (19) new 12" x 3 %" rubber tube 9.00 171.00 16.94 321.86 10.00 190.00
13| 21 |ea.|Provide and install (21) new Sch 40 12-inch ( 12") pipe couplings 90.00 1,890.00 142.78 2,998.38 110.00 2,310.00
14| 80 |ea.|Provide and install (80) new 3 %" x 2 3/16" bronze line shaft bearings 61.25 4,900.00 78.68 6,294.40 98.00 7,840.00
15| 22 |ea.|Provide and install (22) new 2 3/16" line shaft couplings 57.00 1,254.00 114.95 2,528.90 130.00 2,860.00
16| 1 [ LS |Provide and install new 3 %" x 2 3/16" tension bearing with stuffing box 700.00 700.00 411.40 411.40 450.00 450.00
17| 1 [ea.|Provide and new 12" x 10’ column pipe 400.00 400.00 635.25 635.25 750.00 750.00
18| 1 |ea. |Provide and install 12" top special column pipe 412.00 412.00 586.85 586.85 680.00 680.00
19 1 |ea. |Provide and install 2 3/16” x 10’ line shaft 176.00 176.00 255.31 255.31 305.00 305.00
20| 1 [ea. |Provide and install 2 3/16" Top special line shaft 300.00 300.00 469.48 469.48 540.00 540.00
21| 1 [ea.|Provide and install 3 %" top special oil tube 125.00 125.00 175.45 175.45 200.00 200.00
22| 1 |ea.|Provide and install 2 3/16" motor drive shaft with head shaft, nut, gib key and lock bolt 356.00 356.00 590.48 590.48 580.00 580.00
23| 1 |[LS|Install up to 400'— 1" sch 80 pvc for water level ing line 260.00 260.00 227.00 227.00 750.00 750.00
24| 1 |[LS|Lower pump setting if — 20'- 12" x 3 %" x 2 3/16" column tube and shaft with %" S.S. PVC coated airline including labor and freight 1,954.00 1,954.00 2,078.00 2,078.00 2,500.00 2,500.00
25| 1 [LS|Clean, sandblast, and paint existing head, new o-rings dripper, oil line, and all new hardware and gaskets 375.00 375.00 600.00 600.00 100.00 100.00
26| 1 |[LS |Fabricate access in the existing fabricated steel head for 1" sounding line 185.00 185.00 180.00 180.00 250.00 250.00
27| 1 |[LS |Labor and materials to hook up electrical wiring for seven gallon oil reservoir heater 600.00 600.00 200.00 200.00 400.00 400.00
28| 1 |LS|Provide and install new 12" x 10' suction pipe including stainless steel cone strainer and lifting lugs 555.00 555.00 1,147.00 1,147.00 700.00 700.00
29| 1 [LS|Provide and install up to 410" of %™ PVC coated stainless steel airline, including ing material _airline fittings, and airline gauge 900.00 900.00 655.00 655.00 850.00 850.00
30| 1 [LS|Install customer's new Goulds 14 FHC 5 stage pump, motor and including g in shop yard and deliver to job site 4,000.00 4,000.00 6,980.00 6,980.00 3,800.00 3,800.00
31| 1 [LS|Provide nuts, bolts, gasket, electrical reconnection, leveling wedges, pipe joint compound, and minor parts to make operational 400.00 400.00 250.00 250.00 50.00 50.00
32| 1 |[LS|Disinfect the well in accordance with AWWA C654-87 (section 5), including three consecutive bacteriological water samples per TCEQ requirements 700.00 700.00 100.00 100.00 400.00 400.00
33| 1 [LS|Demobilize equipment and restore site as specified 100.00 100.00 1,050.00 1,050.00 250.00 250.00
34| 1 |LS |Perform complete wire to water efficiency test using the permanent pump after the repairs are complete 250.00 250.00 150.00 | $ 150.00 350.00 | $ 350.00
Subtotal Water Well #5 Rehabilitation 56,100.00 $ 75,169.77 76,015.00
Well #5 Foundation Construction
1 1 | LS |Move in and set up necessary equipment to dismantle well 5 discharge piping, and remove existing concrete to two feet below grade 1,860.00 1,860.00 4,800.00 4,800.00 5,600.00 5,600.00
2 | 260 | SF |Installation of Flex Base as specified on Drawing C-01 3.25 845.00 9.60 2,496.00 8.50 2,210.00
3 1 | LS |Install steel collar and beams as specified in construction document and drawing C-01 1,265.00 1,265.00 4,800.00 4,800.00 1,500.00 1,500.00
4 1 | LS [Install concrete forms as specified for lower pump foundation, and pour lower i 830.00 830.00 3,840.00 3,840.00 7,000.00 7,000.00
5 1 | LS |Install concrete forms for pump pedestal and new paving surrounding pump pedestal Pour concrete for pump pedestal and paving around piping as specified 4,000.00 4,000.00 3,990.00 3,990.00 4,000.00 4,000.00
6 1 | LS |Re-assemble discharge piping for well as specified, removal of construction spoils and de-mobilize construction equipment 100.00 100.00 1,200.00 1,200.00 1,200.00 1,200.00
Subtotal Well #5 Foundation Construction 8,900.00 21,126.00 $ 21,510.00
Grand Total 125,000.00 $ 175,728.10 $ 177,819.00
Alternate A Deduct Deduct Deduct
1. Salvage Value for Pump at Well #4 $6,000.00 N/A $1,000.00
2. Salvage Value for Pump at Well #5 $6,000.00 N/A $1,000.00




